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1.A company wants to implement a wireless infrastructure on its campus to meet the needs of its BYOD 
initiative. The company has users with legacy devices and wants to accommodate them while delivering 
speed to other users who have modern systems. 
Which of the following standards BEST fits these requirements? 
A. 802.11a 
B. 802.11ac 
C. 802.11b 
D. 802.11g 
Answer: B 
 
2.A network technician has deployed an application that can remotely control desktops with different 
operating systems. The technician needs to be able to use a single client application for this control. 
Which of the following has the technician utilized? 
A. RDP 
B. VPN 
C. VNC 
D. SSH 
Answer: A 
 
3.Which of the following protocols is used to transport outgoing mail across networks? 
A. POP 
B. SMTP 
C. IMAP 
D. LDAP 
Answer: B 
 
4.The help desk is receiving erase the hard drive to eliminate to a server. A help desk technician suspects 
the server Is unable to establish a three-way handshake due to a DoS attack. 
Which of the following commands should a network administrator use to confirm the help desk 
technician's claim? 
A. nmap 
B. arp 
C. tcpdump 
D. dig 
Answer: C 
 
5.A network technician is assisting a user who is having problems accessing a particular website. Other 
users are reporting that the website is accessible outside of the office. The technician suspects the 
problem is with the company's firewall. 
Which of the following should the technician use to troubleshoot? 
A. WiFi analyzer 
B. Bandwidth speed tester 
C. Dig 
D. Packet sniffer 
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Answer: C 
 
 


